PRACTICE 3D

Find the value of each of the following:

(a) (b) (c) (d)
1. 20x9 3 x 80 4 x 500 200x 5
2. 40x 6 5x 10 5 x 800 400 x 4
3. 50x?2 4 x 30 8 x 100 300 x 5
4. 60x 4 6 x 50 6 x 200 400 x 7
5. 30x 8 9 x 20 7 x 400 500 x 4
6. 32x3 72 x4 52 %5 58 x 2
. 2x49 4 x 43 3 X 75 5x43

8. A bookseller sold 30 books on the first day.
On the second day, he sold 8 times as many books as on
the first day.
How many books did he sell on the second day?

9. Mingfa had 4 rolls of film.
He took 24 pictures with each roll.
How many pictures did he take altogether?

10. There are 5 rows of tiles.
There are 56 tiles in each row.
How many tiles are there altogether?

11. Meihua collected 76 stickers.
Sulin collected 3 times as many stickers as Meihua.
How many stickers did Sulin collect?

12. Devi bought 4 dolls at $38 each.
How much did she pay altogether?
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PRACTICE 3E

Find the value of each of the following:

o

10.

1.1

1
2
3.
4
5

(a) (b) (©) (d)
300 x 4 3 x 312 419 x 5 4 x 550
901 x 2 3 x 508 625 x 4 5x 392
614 x 5 4.3 432 781 x5 3x 623
800 x 5 2 x 506 439 x 4 5 556
249 % 3 5 x 361 968 x 4 2 x 704

There are 126 pins in one box.
How many pins are there in 3 boxes?

A radio costs $262.
A television set costs 4 times as much as the radio.
How much does the television set cost?

Mrs Wang bought 3 boxes of beads.
There were 260 beads in each box.
How many beads did she buy altogether?

One packet of biscuits weighs 250 g.
What is the total weight of 5 packets of biscuits?

Mrs Chen sold 680 eggs last week.
She sold 4 times as many eggs this week as last week.
How many eggs did she sell altogether?

The refrigerator costs 5 times as much as the rice cooker.
What is the total cost of the refrigerator and the rice
cooker? 7
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PRACTICE 3F
Find the value of each of the following:
(a) (b) (c) (d)
12 % 2 3x14 1B RS 4 x18

223 x 2 4 x 527 129 % 2 3% 326
252 % 3 4 x 763 372 x5 3 x 284
724 % 2 3 x 105 414 x 4 5 x 120
260 x 3 5 x 415 509 x 5 4 x 309
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Mrs Fu made 280 egg sandwiches for a party.

She made 3 times as many chicken sandwiches as egg
sandwiches.

How many chicken sandwiches did she make?

There are 365 days in a year.
How many days are there in 4 years¢

A pilot flies 105 hours in one month.
How many hours will he fly in 5 months?

One box of chocolates weighs 350 g.
Find the total weight of 2 boxes of chocolates.

There were 30 cakes in one box.
Mrs Wu bought 4 boxes of cakes.
How much did she pay for the cakes if each cake cost $3.

There are 18 chairs in the first row.
There are 25 chairs in each of the other 5 rows.
How many chairs are there altogether?
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